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the Zero Model

(+1) + (1) =0 = AN




Add zeros until | have Add zeros until | have
enough tiles to take enough tiles to take
away 7 negatives. away 4 negatives.

. . . . negatives. L

The solution is +4.
[ [ [ HEEEE

(-3)- (7) = +4 EEREEN
(+8) - (-4) = +12
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(+3) >‘</(2/)

Add on 3 sets of -2
a bucket of zero! /7

Always start with




Take off 5 sets of -2 Take off 3 sets of +4 Take off 4 sets of -3
(-9) x (-2) (-3) x (+4) (-4) x (-3)
(-5) x (-2) = +10 (-3) x (+4) = -12 (-4) x (-3) = +12




(2x + 3) + (x - 5) 2x +4)

add zeros
to get
enough
positives
to take
away +4.

Take away 2x and
take away +4.

X-Q-xY
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X Use Area Models
3(2x-1)=6x-3 ..;7.. LI
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2X(X + 3)

2X(X + 3)
2X2 + 6X

(X +2)(x +4)

(x + 4)

(X +2)(x +4)
X2+ 4x + 2x + 8
X2+ 6x + 8



(x +3)(x-2)

(x-4)(x-1)




(2x + 1)(x - 2) (3x - 2)(2x - 1)




x2+4x+3 X2- 3X -

G (B ay

= 1l







2X -3 =4x + 1
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